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Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 39226623721 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The magazine “Chandamama™ Was started by

1. Bapu. Ramana

12

Nagireddy. Chakrapani

3. Venkata Parvatheesa Kavulu

4, Andhra Pradesh Children Academy
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Question Number : 2 Question Id : 39226623722 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose correct answer regarding Author and book

1) Charles Darwin a) David copperfield
i1) Charles Dickness b) War and peace
111)  Leo Tolstoy ¢) Origim of Species
iv)  Donte d) Divine Comedy

BFIE TWIR FOWORAR BOWRT YLITJW, TOSF 0.

1) Fo3F A @O a) Bl ToTT et
i) PSR BET b) =00° 0T &Lex’
iii) ©odwe Sologpievy c) SOBT SF ArAex’
iv) 39083 d) 6333653*” LDINE
1. 18 i b 1. d IV. a
2 1.b 1. a 111. € . d
3 L.L 1. a i1. b . d
4, 1.b 1. d 111. a Iv. ¢

Options :

1. % 1

2. % 2

3.¢3

4. % 4



Question Number : 3 Question Id : 39226623723 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

‘Kherai puja’ belongs to this tribes

L. Gond
2. Kol
3. Bodo
4, Baiga
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Question Number : 4 Question Id : 39226623724 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The concept of ‘Fundamental duties’ of the Indian
Constitution is taken from this country constifution

I Russia

I3

England

3 Germany

4, Australia
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Question Number : 5 Question Id : 39226623725 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

‘Stamless Steel” invented by

L. Henry Bessemer

3

Thomos Nwcom

3 Harry Brearh

4. Walter Hunt
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Question Number : 6 Question Id : 39226623726 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Junk e-mail is also called as

i Spoof
2. Spam
3. Spool
4, Virus
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Question Number : 7 Question Id : 39226623727 Question Type : MCQ Option Shuffling :
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

One famous book “The Daughter of the East™ is written by

I: Taslima Nasreen

2 Sirimavo Bandarunaike

3. Benazir Bhutto

4. Aung -san —Suu - Kyi
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Question Number : 8 Question Id : 39226623728 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Name the first Indian businessman who found place in the
cover story of Forbes Magazine

1. Narayana Murthy
2. Dr. Reddy
3 Anil Ambani

4. Azim Hasham Premyji
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Question Number : 9 Question Id : 39226623729 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Guillain Barre syndrome (GBS) is a

I: Nerve disease

2 Communicable disease

3. Autoimmune disorder

4 Type of respiratory mechanism
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Question Number : 10 Question Id : 39226623730 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The war ship maugurated by Indian Defense Minister at
Kalinmgrad Yantar Shipyard in Russia 1s
l. INS Vikranth
2. INS Tushil (F-20)
3. INS Kiriti
4, INS Ravath
OROYS IOITRE oDOWT & wonLIY RT3
OFmY AS[O0T w0 TPedAT BNTIOE

2, 20.8°.00FF. DA (DFF — 20)
3. 2.0 .0NF*. S0ct3

4. 2. .ONA . Do

Options :
1. % 1

2.2
3. % 3
4. % 4



Question Number : 11 Question Id : 39226623731 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

15™ Aero India expo held m this city

L Jaipur

2, Puducheri
3 Calikat

4, Bengaluru
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Question Number : 12 Question Id : 39226623732 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

49™ Imam of Nizari Ismaili Muslims

i Prince Aga Khan -2
2. Prince Aga Khan - 3
3 Prince Aga Khan - 5

4. Prince Aga Khan - 4
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Question Number : 13 Question Id : 39226623733 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Country’s first Robotic godown that run by artificial
intelligence will be established in this port

1. Ramaya Patnam
2. Bandar
3. Krishna Patmmam

4, Surva lanka
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Question Number : 14 Question Id : 39226623734 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Tropex-2025 1s aimed to

k. Coast guard

2

Production of cars

3 Cloud computing

4. Industrial investments
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Question Number : 15 Question Id : 39226623735 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Aryana Sabalenka : Tennis : : Charith Asalanka :

1. Gymmnastics
2 Cricket
3. Chess
4, Kabadi
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Question Number : 16 Question Id : 39226623736 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
One of the following 1s NOT related to artificial intelligence
1. Chat GPT
.3 Deep Seek
3 Google Gemini
4. Destination Sink
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Question Number : 17 Question Id : 39226623737 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Accordmg to NCF 2005, evaluation for Grade 1 and 2 should
be conducted 1n this manner

1. Oral

2. By conducting quiz

3. Through close observation
4, Through written exams
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Question Number : 18 Question Id : 39226623738 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Minmmum age for girls to enter ‘Kasturba Gandhi Girls
Schools’

i 6 years
2 8 years
3. 10 years
4. 12 years
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Question Number : 19 Question Id : 39226623739 Question Type

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Following road safety rules is a

I:

-2

3
4.

Social value
Democratic value
Moral value

Aesthetic value
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Question Number : 20 Question Id : 39226623740 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This type of Naturalism believes in Charles Darwin’s theory of
evolution

| i Physical Naturalism

Z, Mechanical Naturalism
3 Biological Naturalism
4. Historical Naturalism
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Question Number : 21 Question Id : 39226623741 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This statement is true about ‘Toles” in Bengal

1. “Tols” were institutions teaching Urdu and other
subjects

2. “Tols” were vocational training counters for artisans

3: “Tols” were institutions teaching Sanskrit and other
Subjects

4. “Tols” were administrative centers for the Moghal rulers
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Question Number : 22 Question Id : 39226623742 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

According to NEP — 2020, this B.Ed course 1s available to
those who want to become a teacher with 4 vyears
multidisciplinary Bachelor’s Degree

1. 4 vears B.Ed Course

Z, 2 years B.Ed Course

3. 3 years B.Ed Course

4. 1 year B.Ed Course
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Question Number : 23 Question Id : 39226623743 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This 1s NOT the reform regarding exam by NCF 2005 from
the following

I, The exam should not be conducted

Z; Assessment should be conducted as diagnostic activity
% Assessment should be comprehensive

4, Impliments continuous comprehension Evaluation
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Question Number : 24 Question Id : 39226623744 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

This 1s not a financial register

1. Cash book

2, Acquaintance register

3. Property register

4, Pay-bill Register
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Question Number : 25 Question Id : 39226623745 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A baby first addresses all men as ‘dady’ and then uses that
term only for his own father. This statement satisfies following
Principle of Development

1. Development follows a definite direction

2. Development proceeds from general to specific
3: Different developments are interdependent

4, Development 1s a continuous process
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Question Number : 26 Question Id : 39226623746 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“Educational opportunities influence the development of an
individual. the correlation between the school facilities and

individual development 1s high™ This was mentioned in the
book

i. Educational Deternunism

-2

Hereditary Genius
3, Oxford English Dictionary

4. The Environmental child
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Question Number : 27 Question Id : 39226623747 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Early Childhood stage 1s

L According to parents — Gang age

12

According to psychologists — Troublesome age

3. According to parents — Imitative age
4, According to psychologists — creative age
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Question Number : 28 Question Id : 39226623748 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Identify the correct statement for *Social development’

1. According to Sorensen. it 1s the attaining of maturity in
social relationship

2 According to Hurlock. ability to work along with other

3. According to Garret. transformation of a biological
being into a human being.

4, According to Maclver. a desired behaviour to live with

others
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Question Number : 29 Question Id : 39226623749 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Attributing life to non-living things

I Ego centrism
Z; Object permanence
3. Animism
4. Super Ego centrism
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Question Number : 30 Question Id : 39226623750 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the correct statement

S SrmmivasaRamanujan 1s a mathematical genius but
doesn’t speak English. So there are Inter individual
difference here

R: Two brothers belong to the one same fanuly elder
brother can read well and yvounger one can write well.
So there are Intra individual differences here

I S. R both are true

-3

S - true. R - false

L

S - false. R - true

4. S. R both are false
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Question Number : 31 Question Id : 39226623751 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify correct statement according to Wallas

H: Creativity emerges in the form of a sudden flash
in Insight stage

S: Creativity 1s evaluated in Proving stage
1. “H' only true

2. ‘S’ only true

3 H. S both are true

4. H. S both are false
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Question Number : 32 Question Id : 39226623752 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Raven’s Standard Progressive Matrices test 1s
1: Non-verbal. Group and Paper Pencil test
2. Group. Power test
5 Paper pencil. Verbal test

4. Non-verbal. Performance test
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Question Number : 33 Question Id : 39226623753 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

One of the following 1s not a correct statement

1.
2.
3.
4.

‘Ability” refers to the current state of a person
*Achievement’ refers to the past stage of a person
‘Aptitude’ refers to the future stage of a person

Attitude scale was developed by Stanly Hall
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Question Number : 34 Question Id : 39226623754 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

One of the following 1s not a correct pair

l; Kretschmer - Germany

12

Spranger - Switzerland
3 Hippocrates - Greek

4, Sheldon - USA
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Question Number : 35 Question Id : 39226623755 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

One of the following 1s not related to ‘Ink blot test’

1. It 1s designed for adults

2. It is a projective test

3. It consists of five white and five red cards

4, There 1s no particular time to conduct this test

FFNIINTE) TALET TOCER ROWODA OOV
™M o P [

AN ROIRCHTON OB eSACAT

¢
()

2; QT JFeImo WOCT
— )
3. AW3Y 5 VY, 5 BOP TWFNH QT3

4, f‘&zﬁmi ABVE LA AQF T OB QoW

Options :
1. % 1
2.% 2
3.¥3
4. % 4



Question Number : 36 Question Id : 39226623756 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

* A Clerk has shown his anger towards officer on to the files™.
This 1s related to the defence Machanism

l. Compensation

2 Withdrawal

3 Regression

4, Dispalcement
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Question Number : 37 Question Id : 39226623757 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Identify the correct statement from following

a: A student leamed the plural of ‘book’as‘books’.
learned the same plural of “pen’as‘pens’. This relates
to positive transfer

b: A student learned “but’and it pronounced as ‘but’. In
the same way he learned ‘put’and pronounced it as
‘pat’. This refers to positive transfer

1; a. b both are correct

2 a. b both are mcorrect

3 ‘a’ only correct

4. ‘b’ only correct

FENTPNEY ROCIT Bewdod, MHEFA.

2

a: ‘book’ 1 TRWBI ‘books” HOTH 3OS TREE
‘pen’ I WTVRWET ‘pens’ ROTR FOOINRYTH
WD JRAVED JOFIT BT,

b: ‘but” T, 08 0T YULPOAT WTHE ‘put’ R,
‘TEF Q0T LR OAJTD PRI TOTW INRE I
Slgerciat

;o aa03) b BOCIRTH)

2, a @3 b FOOLLTR)

=L (]
3. ‘a’ 208, FOOITOTTDR
4, ‘b’ WP, FOOITVTRTR
Options :
1. % ]
2. % 2

3.3
4, % 4



Question Number : 38 Question Id : 39226623758 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

One of the following 1s NOT related to ‘Bruner Theory of
Instruction’

a. Priority should be given to Student’s self-learning

b. Learning material is important rather than method of
teaching

I, ‘a’ only

z ‘b” only

3 a and b are not correct

4. a and b are correct

WRTT" WREFTD AT D?:a*@ﬁ ROLORR FOORYT)

a. WRHF AoRC IR D ©T3 Jerede.

b BRET LRTI0S UAGRRITETNE T ST
BRTLIEH

L. A BRI

4 ‘b’ =3

3. a3 bROOHLTH)
4  a R b ROIRTEH)

Options :
1. % 1
2.¥2
3.% 3
4. % 4



Question Number : 39 Question Id : 39226623759 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the wrong statement

1. Despite the experimental extinction of conditioning is
done. conditional reflex may occasionally arise

2. Usage of conditioned response as conditioned stimulus
1s called higher order conditioning

3. The higher the reinforcement the stronger the
conditioned response

4. Unconditional stimulus 1s continued after conditioned

stimulus. the conditioning will be stronger
BOCHYT BewTORT, MISFAD.

1. gmengmﬁ YWDWOPTDW, Y9y IPRTZTR
LBRI, ORWOFI 0L TRTWEHIT.

2, OWOPET O ETFBD, BIWORITIYT LD T
oM waoiﬁrsﬂ :g;.cﬁo SEMCOWIESR VN ela iy
@m\i@_ﬁ.

3. YDWFOT I, aﬁeﬁt AGBT ODWORT YO ETT
OI) WOTNST

4, OWOHS WD ETT B F03C LHWOHIIY
VOTIBD, TRDRT  BNOWBIATY __%Jﬁ:;fm
ORWOTT WO

LA

Options :
1. % 1
2.2
3.%3
4. % 4



Question Number : 40 Question Id : 39226623760 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

According to ‘Kuk’. identification methods for Leaming
Disability are

a. Medical Tests

b. Professional skills Test

g, Study of family, School and Environment
d. Study of behaviour

$FE IO IOW TPRFOTR, MIFAT TTFENW

a. [ Ieod TOeNed

b. 6{,}%&63 3"325@5 ﬁt‘}fsﬁmﬁ

C. V0w, TG, VOATNY BHORT

d. [IFINS «godS
. a.c.d
2. b.c.d
3. a.b.c
4 a.b.d
Options :
1.v1
2.% 2
3.% 3
4. % 4
Section 4
Section Id : 392266773
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 24
Number of Questions to be attempted : 24
Section Marks : 12

Maximum Instruction Time : 0



Sub-Section Number : 1
Sub-Section Id : 392266893
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 39226623761 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

2WTPTI0T WOTBTRRNY AO0ITWT Tz MSF 0.
A OINTTERL — B05RRFIT

L -~
-

a i

B. wATY — B3Im0QT0r I
C. VR [wEoD, — 3OTeB[T 36w
D ﬁfﬁdm%mmﬁ — TR

1. s :’033 B
2 B =30 A
=0
3 AR C
-
4, C =223 D
=0
Options :
1. %1
2.% 2
3.% 3

4.9 4



Question Number : 42 Question Id : 39226623762 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

TNTTOAWL TBAT TJ|NL AN,

[ eDDMIADRY 23038, %%mai: 303

2 BRCDD STONEE, ﬂt}mémsm

3 fuafif%d 333, RVOTRI3F
4, ai‘}aﬁf‘ed. T$e303,
Options :
1.¥ 1
2. % 2
3. % 3
4. % 4

Question Number : 43 Question Id : 39226623763 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
RRHDNBEOD TR TII) BRODTLT IR

Il DORAT BRCTOES

[ -
3
Gl
O
Gl
2
O
o)
¢l

i,
)
4, ne3Tw ma:g

Options :
1.¥ 1
2. %2
3.% 3
4. % 4



Question Number : 44 Question Id : 39226623764 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
43¢ 3oN80dD TOR 3’ TRow WENHROBT® E%

. g3od 33

L

-2

FOONIW I3,
3 VWDV mﬁl 2RNESOTHTR
4. TRHENSG DEI NSRRI

Options :

1. % 1

2. %2

3.3

4. % 4

Question Number : 45 Question Id : 39226623765 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

H&G%Eﬁ — B TITT e5F

1. ARTVTOD
2. SEIANDIWDY]
3. IO LR
4, 0D TOE
Options :
1.1
2. % 2
3.% 3

4, % 4



Question Number : 46 Question Id : 39226623766 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

E&ﬁfﬁ'ﬁt}ﬁ?@% D), WRPFPYY TBYOBTIIY, Eufﬁsdaﬁda

T Qo3
2 m@ﬁ@%
3 BREEDR
4. WD
Options :
1. % 1
2.9 2
3. % 3
4. % 4

Question Number : 47 Question Id : 39226623767 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

20w :Cji SNTYE, WD  ADITFFT  JTNTOWT,

TR’ ﬁcﬁe’é RO ;j::‘ﬁmdF% DTNFZ, TREFAD0.
1 BT, MO
2! RLF, VD

1. Z0R3, TI0

Options :
1. % 1
2. %2
3.¢¥3
4. % 4



Question Number : 48 Question Id : 39226623768 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

FEATINGE) BOOINT TITF JTNTRRTR), OTOEA.

]

o

-
cH
o
I
(&
2b
S
a
=

4, oY = ;-36555, e

Options :
1. % 1
2.% 2
3.% 3
4.9 4

Question Number : 49 Question Id : 39226623769 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

TROCHD, & TIIYDH W

1. 3.800D
&l

2 Qéeod

% 3d3BE

4. oUW

Options :
1. % 1
2.9 2
3. % 3
4. % 4



Question Number : 50 Question Id : 39226623770 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

T

speDFNCT  oRoWoT  II csﬁ Molalesrrn T Ial:
TTNGTW, TEFA.
=

eOD

2. BHCLDE, BeJed
3 L9OTTOT). FoLIPR
4, Tockicen, &92F

Options :
1. % 1
2. %2
3.¢¥3
4. % 4

Question Number : 51 Question Id : 39226623771 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

233 Jov S oDdY zﬁ“‘@oﬁ‘ 83 Heydod TJFO

1 SETAIRY
2 Mot
3 2.TE3S
4 Qs
[
Options :
1. % 1
2.% 2
3.¥3

4. % 4



Question Number : 52 Question Id : 39226623772 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Eﬁdéﬁfﬁ% P, BO30WdE. (PVANT LHPT JITT FOY
S A)

1. wT0aN=0 A0H

2. OITTINR RoD
3. Nso0 063 o
4, BSreTFod

Options :
1.v 1
2. % 2
3. % 3
4. % 4

Question Number : 53 Question Id : 39226623773 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

2,000 ©TT0 93T DOTMD 20T T 2033
ORTTNTT WOBH TVFEC

1. ;;;;cjﬁcﬁs-—ﬁ 0T,

2.  ARBRIFE,
3. ROC3RERS =oT,

4. AV IADEA

Options :
1. % 1
2. % 2
3. % 3
4.9 4



Question Number : 54 Question Id : 39226623774 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

%_505*3 + &8 = Eoﬁé — B3 ﬁdd@&ﬁ nRT0R hHeFa.

1. 303 ATPE
2. 33&R XWX
3. TOT, AWVA
4. ©08 ITWI
Options :
1. %1
2.% 2
3.% 3
4.9 4

Question Number : 55 Question Id : 39226623775 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

g1 39NIPNIY BRI GOTAF LFRTR, HIFL

1. L0ARN T3, FOTITG,
[T, -
2 o0, %gﬁs'c;q:?;

4, TOTRW,, WOTTRRODZ

Options :
1.¥1
2.% 2
3.% 3
4. % 4



Question Number : 56 Question Id : 39226623776 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
DM DI]VT  DONBAD  ReHB[OZ  FTIROT
SRTTL O WHZ — 33 TZTYWS YO0TT

1 ﬁéﬂ%@ﬁ-mcﬁd
i CRIFTOOTT
A NTRIO0TT
4, ﬁfa‘aﬂoﬁd
Options :
1. % 1
2. %)
3.3
4. % 4
Sub-Section Number : 2
Sub-Section Id : 392266894
Question Shuffling Allowed : Yes

Question Number : 57 Question Id : 39226623777 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

FRTWLRETION TT YV B

1 DD VRT3 FOIPE B, LRIV T
2 BPDT OPTZ WIPF [, WERBTD
3 SORB, IRIWEWT WRFF & ALEER T

4. AR, RRITOWYIR, LD
mdcﬁamcﬁv L) ﬁ%ﬁa 3PN

Options :
1. % 1
2.% 2
3.% 3
4.9 4



Question Number : 58 Question Id : 39226623778 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

FOOTOL VON0SR, ARTOIREN FRBY WL

X 2R 0%
2. GRURIFS
3. Se@odne

4, RIPOIDMOF

Options :
1.¥1
2.% 2
3.% 3
4. % 4

Question Number : 59 Question Id : 39226623779 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

SRITRE TBOT N EBNYY 2.0

]

L s Senss, opmd AR

2. 3INED, TOA, TR, TR WK, FOIPN
b

3. %ﬁsﬁ% Jey @Jmam& QIRNFAR)TR

ot

4.  TET TWD woINTR, MTOSATYT

Options :
1. % 1
2.92
3. % 3
4. % 4



Question Number : 60 Question Id : 39226623780 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

8 TOITZ, ROTHBSRETT T’ DO FTOILW IO

1. TRDJEAT 3
43 Sl {e R ETI
3. 0 QVTRIJHB
4. INOF

Options :

1. % 1

2.¥ 2

3.% 3

4. % 4

Question Number : 61 Question Id : 39226623781 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
3B pome TYWIIS Swve YWY TRL DT,
1. Inen
2. BRT023
3. 303 SRFyH
4. dIeolE 3

Options :
1. % 1
2.% 2
3.% 3
4.9 4



Question Number : 62 Question Id : 39226623782 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

SONENTY FROTTRCWEON DJ0TE LTOIRLNT T F°

. GBI
2. TR on
3. CRUTTIF S

4, Je3odne

Options :
1. %1

2.2
3.%3
4. % 4

Question Number : 63 Question Id : 39226623783 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

TLIT ﬁaeio:m SyEBA T3S

L
1 AR WWONT  ACTRIDR, ATROIL  AFTOD
DRI

2 WOFNY 3OTOD LR 2, SYTNIRWDR)D

3 QTR j"«“-“ o® E—\}EB

4, BTN WRODT VT LBNTR, ROLORAIST

I.ZJ =, =L

Options :
1. % 1
2.% 2
3.¥°3

4. % 4



Question Number : 64 Question Id : 39226623784 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

2,000 FSoRNY P 3’*’ﬁé:>d::§ Waplalg e
IRTWTRCINTT, [RBWIS
FORLROIED ﬁﬁ.ﬁm:ﬁ 3O

1. =00 DT Woe E’i

I
21
2
(i
ch
el
@)
B
Lo

4. TOXFT TO

Options :
1. % 1
2.9 2
3.% 3
4. % 4

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

QTT. QO3B

=L

—
Y T

Section 5
392266774
5
Online
Mandatory
24
24
12
0
1
392266895
Yes

el Bl

g



Question Number : 65 Question Id : 39226623785 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the declarative form of “What a great performance”!

L The performance. what a great one!

12

The performance 1s great.

L

How great 1s the performance!

.

What a Great is the performance.

Options :
1. % 1
2.92
3. % 3
4. % 4

Question Number : 66 Question Id : 39226623786 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

They play basketball every Sunday.

Choose the negative form of the sentence above.

1. They does not play basketball every Sunday.
2. They did not play basketball every Sunday.
3. They do not play basketball every Sunday.
4. They do not plays basketball every Sunday.

Options :
1. % 1
2. %2
3.¢¥3
4. % 4



Question Number : 67 Question Id : 39226623787 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the adjective that can not be used m superlative
degree.
3 beautiful

mdustrious

]

T

talented

e

universal

Options :
1. % 1
2. %2
3.% 3
4.9 4

Question Number : 68 Question Id : 39226623788 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Several of the girls are beautiful.

In the sentence above. ‘several’ is

1 an adjective
2: a pronoun
4 an adverb
4, a preposition
Options :
1. % 1
2.¥2
3.% 3

4.% 4



Question Number : 69 Question Id : 39226623789 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

I'm afraid I must ask you both what (do) vesterday at
10.20 pm.

Choose the option that fits the blank.
k. did you
2 you were doing

were you doing

3
4. did not do

Options :
1. % 1

2.2
3.%3
4. % 4

Question Number : 70 Question Id : 39226623790 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The radio has been playing since 7 am. I wish someone
(turn) 1t off.

Choose the option that fits the blank.

1 would turmn
2. will turn
3 tum
4, has been tuming
Options :
1.¥ 1
2.% 2
3. %3

4. % 4



Question Number : 71 Question Id : 39226623791 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

He dwelt effective communication media in modem
society.

Choose the preposition that fits to blank.

L. bv

-

-2

o1
3, to
4. n

Options :

1. %1

2.9 2

3.% 3

4. % 4

Question Number : 72 Question Id : 39226623792 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

I congratulated the wmners i the competition the
principal

1. in behalf of

-2

on behalf with

3. for behalf of
4. on behalf of

Options :
1. % 1
2. % 2
3. % 3
4.9 4



Question Number : 73 Question Id : 39226623793 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Identify the word with a silent *d’.
1L dash
2. dolphm
3. Wednesday
14, direct

Options :

1. % 1

2. % )

3.3

4. % 4

Question Number : 74 Question Id : 39226623794 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Choose the word that comes before the word ‘month’ when
the words are arranged in alphabetical order.

L mathematics
2. mother
3 mutter
4, mould
Options :
1.9 1
2. % 2
3.% 3

4.% 4



Question Number : 75 Question Id : 39226623795 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

I have little money left. let’s have dinner in

restaurant.

Choose the correct set of articles that fit the respective blanks.

1. a.a
7 a. an
i the. the
4. an. an
Options :
1.v 1
2. % )
3.% 3
4. % 4

Question Number : 76 Question Id : 39226623796 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

I bought steel produced at Visaka Steel Plant.
Choose the article that fits the blank.
1. a

dIl

-2

3 the
4. No article 1s needed

Options :
1. % 1
2. %2
3.°3
4. % 4



Question Number : 77 Question Id : 39226623797 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“The Lost Child” 1s a short story by
1. Ruskin Bond

Mulk Raj Anand

Roald Dahl

Somerset Maugham

]

e A

Options :
1. % 1
2.9 2
3.% 3
4. % 4

Question Number : 78 Question Id : 39226623798 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“The Selfish Giant” by Oscar Wilde is a story that explains the
theme of

1. identity
2. Hard work
3 Jealousy
4. generosity and kindness
Options :
1. % 1
2. % 2
3.%3

4.¥ 4



Question Number : 79 Question Id : 39226623799 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

In an essay. a thesis statement accomplishes the following.

I; Introduce the main points of the body paragraphs

12

Provide a summary of the conclusion

L

Present the main argument or central idea

e

Offer suggestions for further research

Options :
1. % 1
2.% 2
3.¥3
4. % 4

Question Number : 80 Question Id : 39226623800 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the technique that is used to hint at future events or
outcomes in a story.

L. Procrastination
2 Foreshadowing
3 Flashback
4, Red herrings
Options :
1. % 1
2.9
3. %3
4. % 4
Sub-Section Number : 2
Sub-Section Id : 392266896

Question Shuffling Allowed : Yes



Question Number : 81 Question Id : 39226623801 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The level of cognitive objectives that mvolves the ability to
understand the mood of the writer 1s :

1. knowledge

12

comprehension
Application

3
4, Evaluation

Options :
1. %1
2.9 2
3.% 3
4. % 4

Question Number : 82 Question Id : 39226623802 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Select the mcorrect statement about the nature of the English
Language.

1. English 1s a static language and never changes
2. English 1s influenced by various languages over time.
3 English 1s a complex and evolving linguistic system.
4, English 1s affected by culture and social factors.
Options :
1.¢ 1
2. %2
3.% 3

4. % 4



Question Number : 83 Question Id : 39226623803 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Enabling the students to use appropriate technique in different
types of writing 1s an objective of teaching

1. prose

-2

poetry
3 drama
4. composition
Options :
1. % ]
2. % 2

3. %3
4.9 4

Question Number : 84 Question Id : 39226623804 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The structure of a sentence 1s :

1 arrangement of syllabus
2. arrangement of alphabetical order
3 meaningful arrangement of words
4. order of adjectives

Options :

1. %1

2. %2

3.¢3

4.% 4



Question Number : 85 Question Id : 39226623805 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The English Teacher’s Kit 1s useful to :

1. develop a set of easy to use material

I3

score more marks in entrance examinations
3. measure the mterests of students

4, organize events like annual day
Options :
1.¥ 1
2.% 2
3.% 3
4. % 4

Question Number : 86 Question Id : 39226623806 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Curriculum 1s ;
i a plan that provides learning opportunities

]

a plan that shows how to teach a lesson

L]

a test that aims at physical strength

e

a book that has all topics of science

Options :
1.¥1
2.% 2
3.% 3
4. % 4



Question Number : 87 Question Id : 39226623807 Question Type

Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Oral Method of teaching was proposed by :

1; Henry Sweet
2, Edward
3. Hymes
4. Harold E Palmer
Options :
1. % 1
2. %2
3.% 3
4.4 4

: MCQ Option Shuffling : No

Question Number : 88 Question Id : 39226623808 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

One of the following 1s not a psychological factor that affects

second language acquisition :

1. Ambience
2. Motivation
% Aptitude
4. Attitude

Options :

1.% 1

2. % 2

3.% 3

4, % 4

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :

Section 6
392266775
6
Online
Mandatory
24
24
12



Maximum Instruction Time : 0

Sub-Section Number : 1
Sub-Section Id : 392266897
Question Shuffling Allowed : Yes

Question Number : 89 Question Id : 39226623809 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Multiplicative identity for whole numbers

TRTEOF OBNEN TOFHTT ©IR.I00I

1; =87

12

(2023 -2024)%

s G
3 o o
A i
-3 .2
4. — X —
= 3
Options :
1.1
2.% 2
3.3

4.% 4



Question Number : 90 Question Id : 39226623810 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The greatest 4 - digit number that 1s exactly divisible
by 16. 20, 24 15

16, 20, 24 ne0T aﬁéfﬁmﬂ LTRNTRMT PYOIN

LHEBRE RO,
[ b}

1. 9960
2. 9720
3. 9840
4. 9920

Options :

1. % 1

2.% 2

3.¥3

4, % 4



Question Number : 91 Question Id : 39226623811 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A car takes 1 hour 40 munutes to reach the destination by
travelling at a speed of 60 kmph. If the car travels at an extra
speed of 20 kmph.number of minutes i advance will it reach
the destination

2,0T0 T NoEdN 60 3.ewe. =IBRODN T3P EJATON
MDA ITI, A0 1 Ao 40 J0ARD  LBOWIT.
OTH  H[ew T notdt 20 d.ewe. B kTTBROON
CiREES U uF, dadEne Seude REFITD,

[2d,, £
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g

el

[ ] —
-2 =i
e A

[
h

W
o
e

Options :
1. % 1

2. %2
3.3
4, % 4



Question Number : 92 Question Id : 39226623812 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The amount to be repaid on ¥ 12000 at 2.5% per annum simple
interest after 2 years

12000 R ﬁc‘u“ﬁ; 2.5% =T WRTTTBRODN 2 JJE
nen TPJSFLTT BRT

1. < 12600
2. < 12800
3. < 13000
4. < 13200

Options :

1.¥1

2. % 2

3.% 3

4. % 4



Question Number : 93 Question Id : 39226623813 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the quadrilaterals in which the diagonals are
perpendicular and bisect each other.

L Parallelogram and Rectangle

12

Trapezium and Rhombus
Square and Rectangle

3

4, Rhombus and Square

BEOFNSL FWOIT ©OLRGF mﬁﬁsm-e;:éad BLE WRTW,
MSF 0.

ABPOIT WLRF L W) ORI
2, TR, W) BT S

3. P8 D) SobI

4. BIFS DD 2°T

Options :
1. % 1
2. %2
3.% 3
4.9 4



Question Number : 94 Question Id : 39226623814 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

If the number of faces and vertices of a polyhedron are 20. 12
respectively. then number of edges 1s

2,000 TOR/NDCL  B[NDNL A JOoNned  Iz0woN
(ROTwT') 20, 12 STTY ©TT LOWNE FOL,

L. 32
2. 30
3 22
4. 20

Options :

1. % 1

2.92

3. % 3

4. % 4



Question Number : 95 Question Id : 39226623815 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

ZP1s equal to its complementary angle and £01is equal to its

supplementary angle then ZP: Z0=
ZP Q0T ©W3 FpUs eI FSRIS DR L0
QOWTH W0 TOTRTT 8RIF, ARWI08 LP: L0=

X: 43
2. I 2
3 2 41
4 3:1

Options :

1. %1

2.92

3.% 3

4. % 4



Question Number : 96 Question Id : 39226623816 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

All the diagonals of a regular hexagon ABCDEF are
intersecting at ‘O’. Then £A40C =

ABCDEF Q03008 &@)203300Y 2 BFND ‘O’
3T PFeDABNRWERN. L40C =
- Yo

1. 120°
2. 60°
3. 45°
4, 30°

Options :

1.¥1

2.% 2

3.% 3

4. % 4



Question Number : 97 Question Id : 39226623817 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

1 . -
Iif = = then the value of 2x(4x—5)+ 71s

1
r=- 838 2x(@x-5)+7 I 43S
.
38
1. e
9
o,
.,
.
3
41
4. i
9
Options :
1. %1
2.% 2
3.%3

4.9 4



Question Number : 98 Question Id
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks
u B
Value of 3 sl
5__'! X 6_:'
37 x10% x 5°
LS
55 %x 67
1
1 i
2
2 2
3. =
1
4 =
g
Options :
1.4 1
2. % )
3.% 3

4. % 4

: 39226623818 Question Type

: 0

: MCQ Option Shuffling : No



Question Number : 99 Question Id : 39226623819 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

1 FrEd
If x+—=35, then value of —— 1is
X %
e 11 S
x+—=5 800, —— 89
X .1"
1 23
2 27
3 25
4, 28
Options :
1.¥ 1
2. % 2
3.% 3
4. % 4

Question Number : 100 Question Id : 39226623820 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The perimeter of a rectangle is (4x—28) and its width is (.T—S)I
then length of the rectangle is
2,000 So0H3T ﬁ:gf:::é‘ (4x —8) wai 0 @ne (x-15)
STO YODIT YT,

!

1. 3x=3
2: 3x+5
3. 3x—13
4. x+1

Options :

1. % 1

2.% 2

3.% 3

4.9 4



Question Number : 101 Question Id : 39226623821 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
If a dice thrown once, then the probability of getting
composite number on it 1s
20T TFTI, 20TRO YVTLYATRN BT e PoLs,
(Roocdnd) Road, T FoIBAeoN3

|
L 3
3
2
3 —=
3
1
3. &=
2
1
4. A
6
Options :
1.v1
2. %2
3.% 3

4. % 4



Question Number : 102 Question Id : 39226623822 Question Type
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The following DO NOT have line symmetry

FPNTRNTE) FTNWE Tebdnsh YOTH)

_,_....:_\L
1. X6
2 A.B
3 E; iy
4. H: C
Options :
1. % 1
2. % 2
3.3

4. % 4

: MCQ Option Shuffling : No



Question Number : 103 Question Id : 39226623823 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
o T .
A man travelled % of his joumey by a train, — by a bus and

the remaining 16 km. by an auto. The total distance he

travelled(in km)
— — 2 ; o "I' n ]. i
22 [ BT, WD Todeens) —e Pon B,97C, —€
AR 2 & — 0 5 o o 7

Pont WARY wed 16 d.we. SRR RO
FOSTREBATID. W3 TWOI0EBAT 20t

1. 300
2 280
L 240
4. 120

Options :

1. %1

2.¥2

3.% 3

4.% 4



Question Number : 104 Question Id : 39226623824 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

oir |
i

The height of a cuboid whose volume is 275 cm’ and base area

. A ,
1s 25 cm” 1s (1n centimetres)

Fop® 275 F.A0.C0C

R WALRE 25

23.40.c0¢e. BRODT SOPTFIT HBT (X0.cWe.nNeY)

1.

-2

%

4.
Options :
1.4 1
2. %)
3.% 3
4. % 4
Sub-Section Number :

Sub-Section Id :
Question Shuffling Allowed :

11

2
392266898
Yes



Question Number : 105 Question Id : 39226623825 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“A hypothesized productive system 1s Mathematics™ it 1s said
by

1. Bell
2 Maria Pierre
3. Locke

4, Aristotle
NREHATDT YVIVTITD cdﬁf’ioiaf Nneds Q0T TeYTID

Eils

1, &F

l;

2. aoedodTe LoDd
3. T

4, @&E JeF
Options :
1. % 1
2.92
3.% 3
4. % 4



Question Number : 106 Question Id : 39226623826 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

“Socio Cultural theory™ was formulated by

1. Piaget

2

Skinner
3, Vygotsky

4. Adam Smith
0300233 m--::nﬁu;dé% AT 0BT, CRTPODATRD

2 ARE

3 JRRCTR
4, BRI
Options :
1. %1
2.% 2
3.¥3
4. % 4



Question Number : 107 Question Id : 39226623827 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The author of the book *Karana Kutuhalam’
& Bhaskaracharva - 11

2. Brahma Guptha

g Aryabhatta

4, Srinivasa Ramanujan

‘FOR DINRTOO’ NOFPW TiZFT

1. mﬁﬁmmmﬁ? -1I

2 ARSEANE

&

LEL

; EO&EFE;%
4. SATOX TOBRRET

Options :
1.¥1
2.% 2
3.% 3
4. % 4



Question Number : 108 Question Id : 39226623828 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Play — Way method was introduced by

1. Anderson

12

Kilpatrick
Frederick Froebel
Armstrong

f@ﬁ%@cﬁ?ﬁi 2OWCLATID

(de 4w

(&
O
&l
9
pX
<)

4. S E Ao

Options :
1. %1
2. %2
3.¢¥3
4. % 4



Question Number : 109 Question Id : 39226623829 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The specification ‘Selects appropriate method’ comes under
this objective

5. Skill

-2

Understanding
Knowledge

3
4. Application

‘Foodnd wcd@m ), & 03% WD) &fa*% jﬂ w02)
ﬁ% e3Tco T YVTIE 56& A3

1 1)

2 SR LT

3 ﬁ"@

4 ©FOWR0E

Options :

1. % 1

2. % 9

3.% 3

4.¥ 4



Question Number : 110 Question Id : 39226623830 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Scientist who considered ‘appreciation’ as a mathematical
value 1s

1 Breslich

[

Young
3 Munnik
4. Schorling

e’ B, oW NedSTF [POTN TONEEAT Ned3eg,

ol
1 23y
2. OO
3. 0N, T
i.ﬂL

4. .EJ_%@FGHG

Options :
1.¥1
2.% 2
3.% 3
4. % 4



Question Number : 111 Question Id : 39226623831 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Last step in problem solving method

L. Estimate the result

2. Checking the result

3 Compare

4. Translating

ﬁmﬂﬂ TT WHOITY Besod To3

4, 0D WIOT)TR

Options :
1. %1
2.9 2
3.% 3
4. % 4



Question Number : 112 Question Id : 39226623832 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Method of designing the curriculum keeping in mind the needs
and 1nterest of the child

1. Concentric method

2. Psychological method

3. Spiral method

4. Topical method

5:’0%;# fﬁﬁqj@ﬁfﬁ, Eﬁﬁiiﬁ%ﬁi}i q}%o:bega%&mca: ﬁdﬁﬁ’)i‘?

O3Re2BONT, WANLYAT VPO
L DTFORLOD e

2. BR[RIT TGS

3. AT :‘cié

4, DCNF T jcgﬁ €

Options :

1. %1

2.¥ 2

3.%3

4, % 4

Section 7

Section Id : 392266776
Section Number : 7
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 24
Number of Questions to be attempted : 24
Section Marks : 12
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 392266899

Question Shuffling Allowed : Yes



Question Number : 113 Question Id : 39226623833 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The major source of Sulphur dioxide and Nitrogen dioxide are

1. Buming of tires

i Petroleum refineries

3 Air conditioners

4. Herbicides

ROD' B, 8% .7 D [Becnd B, 9S%.050 InnD
o) 3] ~E) o @ — (5} ~E) f

RO0W mé@

1. &ééd:ri%‘lsi‘g;_ VORI

2. Spedodo FOFTERMOTND
3. QONT® FOBCTTNED
4.  FATOIIND

Options :
1. % 1
2.92
3.% 3
4. % 4



Question Number : 114 Question Id : 39226623834 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Salivary gland :ptyalin : : Pancreas : ?

1. Lipase. Trypsin

12

Trypsin. sucrase
3. Lipase. Pepsm

4. Amylase, Sucrase
o0 NoY : L3oDIT = PDedeededd 1 ?

L, 3HesF, B¥as
g s
2. T, Rojes’
3 JZeeF, B
g 2
4. oRyTenr, B
Options :
1.v 1
2.% 2
3.% 3

4, % 4



Question Number : 115 Question Id : 39226623835 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The structure that prevents entry of food into Larynx is

L. Glofttis

2, Tongue

3. Epiglottis

4, Oesophagus

FATINCIRTR LT IPeSRTOZ SELRCNT T3S

-H.

IOTIOY
2, 09N

3. $TOTONR
4. ESTOTTOT

Options :
1. %1

2.% 2
3.¢°3
4. % 4



Question Number : 116 Question Id : 39226623836 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Match the following

A. Stomata L. Absorption of water
B Xylem I Transport of food
A Root hairs III. Transpiration

D Phloem IV. Transport of water

FPATIN N BRODA IToW0.

A  T30og, QL LeDWF

B. % 420 II. %0 Zoneedd
C. Dwose3 M. e5Resse

D. Fpeodo IV. Qe ZRrmosss

| A= Bl €=I I»—I%
Ao HE B, € =1, D—H
3 A-LB-HLE-1D-IV
4. A= B=JL €= D—IV

-2

Options :
1. % 1
2.2
3.% 3
4. % 4



Question Number : 117 Question Id : 39226623837 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The part of the brain that controls posture and equilibrium of
body

1. Diencephalon
3. Cerebrum
3. Cerebellum

4. Medulla Oblongata

DT goN (wddesd EH?E), Do DN RO
%“oduaﬁau;_ QOROSAT WTRYS N

whlerp¥olE=ninty

2. A

3. EST0R r?_-J:\%

afd

4. Eua"i:;ﬁcjﬁt

Options :
1. % 1
2. %2
3.3
4. % 4



Question Number : 118 Question Id : 39226623838 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The element i water that confrols the metamorphosis of
Tadpole mnto adult Frog 1s

l. Iron

2. Calcium
3 Cadmium
4 Iodine

ARTRRE DOTTOID FFIHT0IN TRTOST BROT
3ONONT, AONOERT JLVIPIT DRY TR

4 ele v
2. F0.20D0o
Do

3. TG00

4. eaodneRT
Options :
1.% 1
2. %)
3. % 3

4.9 4



Question Number : 119 Question Id : 39226623839 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Correct inference when an animal cell 1s kept 1n a salt solution.
i In isotonic solution the cell will shrnk.
2. In hypertonic solution the cell will stay in the same size

In hypotonic solution the cell swell and rupture

3

4, The cell dissolves

TR BRIV, YOS TRVWRTY Q0ATN SNTRIRNH
ROCIPT QALEFOL

0 A MTUE QB TR Beed) 1),
ﬁ“fa-frb:.iaﬁ

%, O TTZ BT oReTY  Ieedy) ©ae
DRI Yode YW

3. 3R T3 BV VBOTY, BRI YO, LT
ARV

4, 3ReIFY TSN T3

Options :
1. % 1
2.% 2
3.¥3
4. % 4



Question Number : 120 Question Id : 39226623840 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The character helpful to identify bad quality seed

L. Sinks 1n water

2, Having round shape

3. Contain dark colour and texture
4, Floats on water

IS rbsasdo&gzﬁ zﬂmﬁf&mj‘ MEFAeD ATl

1. Qe0TY ToshrdHD

= TNOTOT 300 BRODDTR

3. METT WY DR J23d BRoDDIJYTD
4. 0T oeed SeenPd

Options :
1. % 1
2.% 2
3.% 3
4. 4



Question Number : 121 Question Id : 39226623841 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

The food items that contain Vitamin C

L. Liver

II. Mirchi

III. Banana

IV. Tomato

wtdedT® C TBROOTYTE ©TT JITFND
I oNF

IT. SOERATTOOW

a2

£

IV. &nrzptine

Im. &»

o

1. I.III
2. I IV
3. LIV
4, II. IIT

Options :

1. % 1

2.92

3.% 3

4.% 4



Question Number : 122 Question Id : 39226623842 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The speedometer in vehicles record the speed 1n

1. Cny's
2. m/'s

3 m/min
4 km/h

DOTINTYS  VNNPTIR)  WoTIT dfr{ajs‘hi WD
DTTRTTY BReORSTI

20.20e /R0
B S8 [0
3 2@/l

4, &.20¢. /Mo

Options :
1. % 1
2.% 2
3.% 3
4.9 4



Question Number : 123 Question Id : 39226623843 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Combination of the two or more Electrical cells 1s called

1. MCB

-2

Fuse
3 Circuit
4. Battery
DO UFT BWI0T T, VNI ZeeInG WReREBoDW,
ot T
[

1; $MO3T oBO ¢JeTIB

2. TR
3. OB
4, 239830
D

Options :

1. % 1

2. %2

3.% 3

4.9 4



Question Number : 124 Question Id : 39226623844 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Naphthalene balls that are used to repel moths are obtained
from

1. Coke
2 Coal
3. Coal tar
4, Coal gas

SEMTYR, VONOSAL YLTOIRENT WFIT MPANTI,
VWOOT BOIPROATYT

;1 3ReT
2. FT e
(o B
3 ﬁ'm;cga e TooWTF

4. FOTEN LA®

[ B )

Options :
1. %1

2. %2
3.¢3
4. % 4



Question Number : 125 Question Id : 39226623845 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Correct order of frictions.

X, Shiding friction

X, Rolling friction

i Static friction

TRFBNT OB I

-2
4
."}‘"\.
A
P4

3
4. X<Z<Y

Options :
1. % 1
2. %2
3.¢¥3
4. % 4



Question Number : 126 Question Id : 39226623846 Question Type
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Strongest Fibre among the givenfibres

11 Wool

2. Polyster
3 Silk
4, Nylon

IPAT APNTY WOTRT 2F

1 GO
2 0 ORT
%]
3 ez
=
4. é;jﬂﬁﬁ‘?
Options :
L% 1
2.% 2
3. %3

4.9 4

: MCQ Option Shuffling : No



Question Number : 127 Question Id : 39226623847 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Identify the fiuit that 1s not exported by us from the following.

1. Mango

2, Pomegranate

3 Dragon fiuit

4. Banana

FINIJRYY oy T SRET TEY, TOSFRD.
7 D)

2. P 0%

3.  wona®
4. Y
Options :
1. %1
2. % 2
3.¥3

4. % 4



Question Number : 128 Question Id : 39226623848 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A Device used to protect buildings from the effect of lightning

1. Seismograph

2 Electroscope

3 Tester

4. Lightning Conductor

a0 BNYoT msmm d%;jf_:c NEOIRENRT YVTBTD
1. gggozSesd
2. WINDIFT
[
3. 2OCTT
i

4, 200D OTT

Options :
1. % 1
2. %2
3.% 3
4.9 4

Sub-Section Number : 2
Sub-Section Id : 392266900
Question Shuffling Allowed : Yes



Question Number : 129 Question Id : 39226623849 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This 1s not a component of substantive structure of science

structure
1. Concepts
2. Theories
i i Methods
4, Laws
IENTPNTY I RWRFTART
0T ROTR
oY Q
1. DOT Qﬁﬁ%ﬁc
2. Toechnsd
3. TIOTINED
4, OV TONE
Options :
1. % ]
2. % 2
3.3

4, % 4



Question Number : 130 Question Id : 39226623850 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Sharng of leamers opinions based on key words will be done
in this stage

1. Conceptual understanding

-2

Conduct activities
%, Demonstration - discussion
4. Mind mapping
B TOSTY TRNL IoNE SHOmeN  FUTWTTT
VRTWODNE LITOD STOINTT.
1. mf&%ﬁﬁ@ SO[T
x PENRUIBNG ARFTH

RRIFS — ededs

4. BOT BWROTT

Options :

1. %

2.% )

3.%3
4.9 4



Question Number : 131 Question Id : 39226623851 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“Unit 1s an elaborative concept which 1s mter related in nature™
1s defined by

I; Preston

2 Willbert

- Bosimg

4. Card well

TR TEB0HYT FTOIT FOWOP BRODTIT 2,00V

xS ﬁf_}%“:‘c&qﬂa DO TATDIATIBR

2.  QSWEE

3. 23 RC A0
4 T E e’
Options :
1.v 1
2. % 9D
3. % 3

4.% 4



Question Number : 132 Question Id : 39226623852 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

A student explained the relation between beak shape and food
habits of birds.The objective achieved by this 1s

1. Knowledge
2 Skill
3. Application

4. Understanding

WTRRE TINY TRIT YRR, TTT LLRANN
RSV Te NN ROWOTBW, SYATR. VWT RO
FOART T3

L DI

2. IO,
3. [OD

4, EEo Vit

Options :
1. % 1
2. %2
3.¢¥3
4. % 4



Question Number : 133 Question Id : 39226623853 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

First step in 5 - E model of leaming

1. Evaluate
2. Engage
3. Explore
4, Explam

5-E 9% S[oecoodhy RRTORe DOI

L. RIPQ,F[IRTT
2 BEDTLFONY 3RTWNABRRFTI
3. B9 A )T

4, WO

Options :
1. % 1
2.2
3.% 3
4. % 4



Question Number : 134 Question Id : 39226623854 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This 1s used to evaluate science textbooks keenly

1. Vogel evaluation tool

2 Thurston evaluation tool

3 Termon evaluation tool

4, Long field evaluation tool

WIRITE  TEWIFGRD,  ARE RN CWESIOWDEVY
BRDPTY, AW, WERIT

L. RERS® m’auﬁmﬁa OVWREY)

2, GlogaTy aﬁ?@ﬁMﬁE‘J INVOESSES

3 B0 SPO[RTT [PTY

4 CROTY e @aﬁaﬁ:&ﬁaﬁ IV

Options :
1.v1
2. %2
3.% 3
4. % 4



Question Number : 135 Question Id : 39226623855 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This 1s not a character of Analytic Rubrics used in evaluation

| contains concepts to express clear responses
2. useful for making student profile

e less priority for creativity

4. easy for teacher

aﬁé«umuwddu OTOIRENTT  WJeRFHST  TRUF
@émwﬂ_:lci
) L ac B W |

L QDT ISIoDNTR, SYAD RBJIND DI
2 LTRHFNS TpFS SCIROIN YOTOIRENTOMOITI

3. R uIJe0IN IR TWHOSI

e
e

M%fjﬁ AOLTINTOZT
Options :

1. % 1

2. %2

3.% 3

4.9 4



Question Number : 136 Question Id : 39226623856 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

After reading APJ. Kalam’s biography. he too decided to work
with dedication. The scientific value obtained by him is

]
2.
3.
4.

utilitarian value
moral value
scientific attitude value

mntellectual value

APJ. 3003 ©RT ReITWOZ0DW, LOT JoIT IR
AT ANTETR DRLRRDOT  FOFT WRTED
PEOATD. UV IBET WEPTF I,

L VTOIFITD [P,
23 & Jé‘:s R[PO,
£ o
3. %@,}gﬁa DWNICRADV WX
4 P0T TP,
@ 3
Options :
1. % 1
2.9 2
3.%3
4. % 4
Section 8

Section Id : 392266777
Section Number : 8
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 24
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Question Shuffling Allowed : Yes



Question Number : 137 Question Id : 39226623857 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The 1sland of ‘Diu’ 1s near to this state

| i Karnataka
2. Goa

3 Gujarat

4. Kerala
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Options :
1. %1
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3.¥3
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Question Number : 138 Question Id : 39226623858 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
These forests are the habitats for Lion — tailed Macaque
1. Dry deciduous forests
2. Evergreen forests
Mountain forests

3
4. Mangrove forests
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Options :
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Question Number : 139 Question Id : 39226623859 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The state that shares its land frontiers with Myanmar and
Bangladesh 1s

i Tripura

-2

Mizoram
3 West Bengal
4. Assam

mCﬁD"EUS aiu} mc@ﬁ“wﬁ@ LOON NBNY:
wozaar“‘*:d op

L
B

ot
L. )T

o 0 RETO0

3. Do womd
= CAu0

Options :
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Question Number : 140 Question Id : 39226623860 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The famous book ‘“Madhuravijayam’ was written by
k- TallapakaTimmakka
2. AtukuriMolla
5 Gangadevi
4. Nagalamba
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Options :
1. %1
2.% 2

3.¢3
4.% 4



Question Number : 141 Question Id : 39226623861 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

He was the Govemor General of India when the Permanent
Settlement was mtroduced

1. Warren Hastings

-2

Comwallis
% William Bentinck

4, Dalhousie
JE TOWROR (30n) T AL ORI, WO Sewen A,
AD d@cﬁ ﬁ;ﬁwr chdl?.jE

1. JTT* TEROTT
2. 500D O
3. wOodho 3otios®
4, @RUYY
0
Options :
1. % 1
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Question Number : 142 Question Id : 39226623862 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
Accordmg to Wood's Despatch. the British government
established universities in these cities
1. Bombay. Madras. Calcutta
2, Hyderabad. Delhi. Kanpur
3. Banaras. Srirangapatnam

4. Bombay. Calcutta, Delhi
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Question Number : 143 Question Id : 39226623863 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Ashoka’s mscriptions on Kalinga war were found on the rock
edict no:
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Options :

1. %1

2. % 2
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Question Number : 144 Question Id : 39226623864 Question Type

Display Question Number : Yes
Correct Marks : 0.5 Wrong Marks : 0

Identify the correct statements related to E. V.
RamaswamyNaickerfrom the following

A, He 1s well-known as Periyar

He came from upper class family

: MCQ Option Shuffling : No

He studied Sanskrit scriptures carefully in his early life.

B
B
D. He supported Hindu Scriptures
E
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Question Number : 145 Question Id : 39226623865 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The Fundamental Duties were added to the Constitution of
India 1n this year by the 42™Constitutional Amendment
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1. 1976
2, 1978
3 1982
4. 1984

Options :

1.v 1

2.% 2

3.% 3
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Question Number : 146 Question Id : 39226623866 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The Muhammadan Anglo Onental College was founded by

1. Mohammad Al Jinnah
2. Sayyid Ahmed Khan
3 Khijir Khan

4. Fazl Ali Khan
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Question Number : 147 Question Id : 39226623867 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
He was the only President to be re-elected for the second term

1. Dr.SarvepalliRadha Krishnan

2. Dr.APJ Abdul Kalam

3. K.R. Narayanan

4. Dr. BabuRajendra Prasad
4

B[R HTESe PO TIFFS0IN SOROINRT DT B

-H.

~ - = o= =, = = =i
Rl AReF DY TOGREFD
2. ol APJ EEJ«E}EE lanle)
3. 3.830° . 500000’
4. I R Toe0T, T

Options :
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Question Number : 148 Question Id : 39226623868 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Oceania covers

)

-2

3
4.

Australia. Indonesia. Philippines
Indonesia. Vietnam. Pacific Islands
Australia, New Zealand, Philippines

Australia. New Zealand. Pacific Islands
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Options :
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Question Number : 149 Question Id : 39226623869 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

It 1s not used by the tailor

L, Bobbins

. Measuring tape

3. Machine oil

4. Plum bob
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Question Number : 150 Question Id : 39226623870 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

The crop that requires two hundred and ten frost - free days 1s

| Wheat

2 Maize
3 Coffee
4, Cotton
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Options :
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Question Number : 151 Question Id : 39226623871 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Vivekachudamani. Soundarya lahari. Sivanandalahar.
Atmabodha etc... were writings of

1. Ramanujacharya
2. AdiShankaracharya
% Madhvacharya

4, Vallabhacharya
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Question Number : 152 Question Id : 39226623872 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This 1s NOT a part of the *Ashrama System’
L. Grihastha

0.4 Gnanaprastha

3 Vanaprastha

4. Sanyasa
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Options :
1. %1
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3.% 3
4. % 4
Sub-Section Number : 2
Sub-Section Id : 392266902
Question Shuffling Allowed : Yes



Question Number : 153 Question Id : 39226623873 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

Marks allotted to an essay question in Summative Assessment for
class VI
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Options :

1. % 1

2.92
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Question Number : 154 Question Id : 39226623874 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0
The author of ‘“The Prince’is

I John Locke

2 Roussean
3. Montesquieu
4. Machiavelli
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Options :
1. % 1
2. %2
3.% 3
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Question Number : 155 Question Id : 39226623875 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

This method 1s based on the principle of ‘Not leaming to live
but Leaming through living’

1. Lecture method

2. Project method

3. Problem Solving method
4. Activity Based method
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Question Number : 156 Question Id : 39226623876 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“Education 1s a key tool to effectively face challenges and
build a powerful society” — stated by

1. Jawaharlal Nehru
2. Kautilya

;5 M. Visweswaraiah
4. Amarthyasen
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Question Number : 157 Question Id : 39226623877 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

They help to develop teaching and leammg skills

Seminar

A

B. Simulation Technique
5 Panel Discussion

D

Work shop
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Question Number : 158 Question Id : 39226623878 Question Type
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

*Kondaveedu Fort™ 15 a

1 Natural source. written source

2. Historical source. primary source
3. Written source, secondary source
4. Primary Source, Natural source
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: MCQ Option Shuffling : No



Question Number : 159 Question Id : 39226623879 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

These are used to find out the relationship between Price and
Demand

¥ Bar graphs

2 Pie graphs
< 3 Line graphs
4. Venn graphs
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Question Number : 160 Question Id : 39226623880 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 0.5 Wrong Marks : 0

“The process of knowing how far the educational objectives
have been achieved 1s Assessment’said by

i Benjamm S. Bloom

2. Ralph Tyler

3. NCERT

4, VidyvaVinanSarvaswam (1960)
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3. NCERT

4. Lo, Ry ABEAC (1960)
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